[ What s pressure (1n atm) Would be exerted by a mixture of 1.4 g of N: gas and 4.8 g of Oz ga
in a 200 mL container at 57 °C?

| A) 17.0

B 27.0

C) 340
D) 447
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constant temperature?

A) 150 mL
B) 250 mL
C) 350mL
D) 600 mL

' Calculate the number of moles of a gas present in a 26.5 L container at 25 °C and 5016 mmHg.

A) 7.150 mol
B) 9.130 mol
C) 17.00 mol
D) 36.48 mol

| Caffeine’s molecular formula is CsHjoN4O2. The molar mass of caffeine is 194 g/mol. What is |

the percentage of carbon in cafleine?
A) 820%
B) 16.5%
C) 289%
D) 49.5%

For the balanced chemical equation below:

CaHy + 507 = 4C0z + 2ZH0.
is the of water that could be produced? If 0.3618 mol of C4H, react with 1.818 mol

of Oz
A) 11.02¢g
m 13.09¢
C) 19648
D) 65508
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12- | The numbers required to balance the equation (respectively) are:

Fi I!_,ij + Cﬂw — COJQ; + Fey

A) 1L1LLI]
B) 1,112
C) 1,332
Dy .04

3 | How many phosphorus atoms are in 2.57 g of P?
A) 0.0829 atoms

B) 2.5700 atoms
C) 7.26 x 10* atoms
D) 4.99 x 10* atoms

What is the density of N: gas at 0 °C and 2 atm?
A) 050g/L :

B) 1.05g/L

C) 1.63gL

D) 2.50gL

A compound with a composition of 87.5 % N and 12.5 % H was recently discovered. What is
the empirical formula for this compound?

A) NH:

B) N:H:

C) NH

D) N:H
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A solution is made by dissolving some salt in beaker of Wa!<t The sal
A) snlveng

B} solute
C) solution

D) filtrate //,
in KPa?

f the water pressure is 99.136 atm. What is this pressure

A) 0.9650x 10*KPa
B) 1.0045x 10°KPa
C) 1.1329 x 10* KPa

D) 6.0542 x 10°KPa //_

Whui:thcmassannS&i-muhdtopmmmmLufl
A) 21308
B) 56.808
C) 7140e
v) 85.20g
-
ThemtalFrEsmPtfnrthcpmup:oducumllectedwwﬂnfmefouowmgrucuon
s A + B = Co + Dw

A) P~+Pnt Puo

B) Pp+Pno
L) Pe¢ Tu v PHO

p) Pat+Po + Pu.o
Nowi rumimbygi\ringlll Dfﬂﬂr:ﬂ!iﬂﬂ type(s) that lpply.' '
lrﬂmm (redox) Il combination I11. Decomposition
' Pasy + 10C0 —4PClsg)

lassify the

A) onlyl

B) onlyll
)y onlv"
p) landll

gas occupies 3.5 L at 300 K. What volume will it occupy at 200 K?

“sample of
A) 1.5L
B) 20L
c) 23L
p) SulL
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